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T [AECATE HIEUT wHT=IG: fohd wHa
e ST ?

(1) IS 6T EMEA

(2) e T T 6 T

(3) @i

(4) T Y HE T

gt o 31 R T % sTgER wd
FATQ ?

(1) =gd g™

(2) H ST

(3) wed TH

(4) T~ ST

9 yerue # T # @ s e
317 T ¥ grafRE TE R 7

(1) G gA%care

(2) a3 Soft ferawor

(3) = oA

(4) =TT gig

R 5 arfufEm § s W
fpg VP TET T SETR WA e
TE?

(1) e ) sted

(3) TedtEe (4) 3TeBTEHE

TS TUT AT 8 H T T AR ?
(1) e (2) e
(3) & (4) et

we w11 fgra g whaafed fema
(1) srfafeat (2) =g
(3) TR (4) =

1. A regeneration survey is generally
carried out at the time of :

(1) Revision of working plan

(2) To prepare stock map
i (3) Both
! (4) None of these

2. A consumer spends his income
according to law of :

(1) Increasing cost
(2) Total utility

(3) Decreasing cost

(4) Equi-marginal utility

! 3. In forest management, which one of
! these not belonged to ‘Trinity of
Norms’ ?

(1) Normal regeneration

(2) Normal series of age gradation
(3) Normal growing stock

(4) Normal increment

4. In Indian Forest Act, the reserved

forests are declared as per Section no. :

(H 13 (2) 20
(3) 26 (4) 28
5. What is the colour given for cutting or
embankment area ?
(1) Blue (2) Gamboge

6. Mono-climax theory was proposed by

(1) Aubreville (2) Clements

1

|

i

!

|

] (3) Green (4) Black
! _
l

|

| (3) Whittaker (4) Brandis
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10.

11.

12.
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FISiE (TReon) sifufEm, 1972 §, e
H U HA A T AR I
3.

(1) B:W@H3

(2) 9ra v feares

(3) 3713w fsaras

(4) b= Td T

FEted faaftn 6 @ fred s
&l gt ? -

(1) 120° (2) 90°
(3) 60° (4) 30°
YR YT FaeH g fRm 2

(1) <&aed (2) WU
(3) TeuETE (4) Hietpar

Idta rfafia snse goreft & senfeq
HH HTC: it &

(1) ¥9-31g

(2) fom-armg

(3) W H forwm qeavenq gw-a1mg
4) T I HE T

e i, e, setem S9a qur g

<1 gy Tere™ o ot foma mra wajeror -
(1) Tt wdeqo

(2) Seffaitn wdgor

(3) HEEA ALl

(4) ATTReRer ger

corerirr faEt # afet &) waror @
It e ! T —
(1) I Fwrear
(2) et ffessaan
(3) Buferar Aentforg
(4) Teehargen dawr

|
|
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w

T

10.

11.

[a—y
>

‘The Wildlife (Protection) Act, 1972,

contains a total number of chapters
and sections in it respectively :

(1) VIand 60
(2) VIl and 66
(3) VIII and 66
(4) Vand 55

Numerical value of quadrantal
bearing cannot be more than :

(1) 120° (2) 90°
(3) 60° 4) 30°

National Remote Sensing Centre
(NRSC) is located at

(1) Dehradun (2) Bhopal

(3) Hyderabad (4) Kolkata

The crop produced in The Indian
Irregular ~ Shelterwood  System is
generally :

(I) Even-aged

(2) Uneven-aged

(3) Earlier uneven than even-aged
(4) None of these

The surveys done for laying out of
roads, streets, drainage channels, water
pipe etc. :

(1) City survey

(2) Engineering survey

(3) Cadastral survey

(4) Topographical survey

Identify defoliator that cause damage
to Dalbergia sissoo

(1) Plecoptera reflexa

(2) Tonica niviferana

(3) Hapalia machaeralis

(4) Hypsipyla robusta
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13.

14.

15:

16.

17.

il 3 st g8 = 9q F o forg T
TaTH 318 IqF H B JELEI FHI
TAE ST o Heeaa e a |
ey foparr T 7
(1) 1929

(3) 1950 (4) 1988

FaSI A HI FEA R ?
(1) TAREET BT
2) T feweriea

(3) T @
(4) e wfH

|
!

!

| |
(2) 1952 }
|

|

|

|

o § & 379 e I g

(1) wifsfes STTerda 1 @RI I
NI (JET0T) H ST S
2 |

(2)_aqa%i=ﬁamaﬁ=ia$rmﬁi‘ﬁw
T RS oA # 3w feRam ST
2 l

(3) e Frrada, GOt @wTa 1 wEifes
e g 3T T ITH T8 |

(4) SIREFaH ITREH I e H
Hreg e T 1 3w foha s
2

T ST Y ST T W) R wu
Tl T ofeE % S
ofeqfya & ST @ @ S Ao 3

|
!
|
syaeerT o) e ) e T |
(1) =t 2) % |
(3) HwSHE @) FEad i
arpEEe H fohan SR (%) TEereH @ 7 |
(1) 78% (2) 0.03% |
(3) 20% (4) 0.93% |

F -3

13.

14.

15.

16.

17.

To create tree consciousness and
generate enough enthusiasm among
the people to undertake organised tree
planting started as “Van Mahotsava”
in the year :

(1) 1929
(3) 1950

Q) 1952
(4) 1988

The source of Keora oil is :
(1) Valeriana officinale

(2) Pandanus tectorius

(3) Saussuria lappa

(4) Cymbopogon martinii

Choose incorrect answer from the
following :

(1) Technical rotation is generally
adopted by industrial plantation.

Silviculture rotation is used in
management of aesthetic and
recreational forests.

()

(3) Physical rotation provides
maximum net returns over

invested capital.

Mean annual increment is used in
rotation of maximum volume
production.

4)

A territorial unit of a forest
permanently defined for purposes of
administration & record and is the

smallest permanent unit of
management in working plan :
(1) Block (2) Coupes

(3) Compartment (4) Working circle

What percent (%) of Nitrogen is
present in the atmosphere ?

(1) 78% (2) 0.03%

(3) 20% (4) 0.93%
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19.

20.

21.

22,

23.
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THRF ERT % IUR W S
worTett % 3refi aferferd fram m &

(1) ®EHIRR  (2) WS
(3) P (4) =

S 1 T fafea den o R A |
3R wRaTd 61 Fiawar =1 v w@dt @
Td Tk 99 % TR i Ffia wet 2,
HEATAT 2

(1) SIS (2) HE AT
(3) o W WISt (4) AT frewor

1 5 @ S w1 g w1 e R 7
(1) fasm (2) HTEHRIZ
3) smafsm (4) Ty

BTN S A9F 0o Forer a1 wromfer @
TH fohar st & 2

(1) FATHISAH FBEAH
(2) RfufE sfeewm

(3) wew SyfeEh
(4) o=t f=ren

FHINA & IR T AR Thiel
fopa vl & affeper fora s wepan & 2
(1) Tmaaferm (2) gom e
(3) w1 @ Afmed (4) g o

g o 3 fom ot § F=n-uss
BISTS TRIT ST R ?
(1) =™
(3) ¥«

(2) iRl
(4) T

(%) ]

| 18.

19.

20.

21.

)
el

)
o

Based on temporal arrangement,
taungya system is considered under

(1) Concomitant
(3) Coincident

(2) Interpolated
(4) Intermittent

A written scheme of management
aiming at continuity of policy and
action and controlling the treatment of
a forest, is called :

(1) Management plan

(2) Working plan

(3) Silvicultural system

(4) Compartment description

Which of the following is example of
commensalism ?

(1) Lianas
(3) Browsing

(2) Mycorrhizae
(4) Pollination

Identify tree species, which is used for
extraction of oil as Phulwara butter.

(1) Calophyllum inophyllum
(2) Garcinia indica
(3) Madhuca butyraceae

(4) Pongamia pinnata

On the basis of hardness, timbers can
be grouped in which class :

(1) Soft to very soft

(2) Moderately hard

(3) Hard to very hard

(4) All of these

Which of the following wood species
has Kutcha-Pukka heartwood ?

(1) Picea Smithiana(2) Bombax Ceiba

(3) Shorea Robusta (4) Ficus Spp.
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24,

25.

26.

27,

28.

29.

TR aTfehl HRisEH & e | =
A Y G1 oF grey T w@ar g ?

(1) W STt

(2) TG Tl

(3) wifeafaeht o= el

(4) IS o &1 BT A

“zoTETe” Sree YUH R 9Y 1895 H
forEes g0 W= T T TR AT 7

(1) FUecH (2) i

(3) TR (4) BER

oot w faepfa & g =1 w0 wed
g7

(1) T 1 HUH

(2) SeTEIaT |

(3) feream

(4) TR I

TS TR Yree h1 TANT HEAYUH
o foma

(1) 91.%.91, TR (2) .. fgod
(3) . 9= (4) v\, e

ws fifee gew W ars § fashi % fog
& ST aTelt HIAT ) HeEl AT 2

(1) i (2) Imafd

@) I amgfd  (4) =@M

= 4 & w9 o Tt # s
TR 7
(1) 9
(3) I

2) 'Y
4 =3

24.

25.

27.

Select a component which is not
belonged to objectives of social
forestry programme ?

(1) Farm forestry
(2) Community forestry
(3) Ecosystem services

(4) Rehabilitation of degraded forest
area

The term Ethnobotany was first

applied in the year 1895, by :
(1) Schultes (2) Faulks
(3) Harshberger (4) Strasberger

The ratio of stress to strain is known as :
(1) Modulus of Rupture

(2) Elastic limit

(3) Deformation

(4) Modulus of Elasticity

For the first time, the term ‘social
forestry’ was used by

(1) P.K.R. Nair

(2) A.P. Dwivedi

(3) J. Westoby

(4) B.S. Chundawat

The quantity actually offered for sale
at a certain price is called :

(1) Stock (2) Supply
(3) Cross supply (4) Demand

Which of the following wood species
has interlocked grain ?

(1) Sal (2) Haldu
(3) Teak (4) Chir

20
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30.

3L

32.

33.

34,

35.

20

=1 0 9 #1991 wEiE faaEs w5
afEeTo B SR femeT ST ® 7

(1) TR FANEE TH BT Hohe
(2) AuAfR 3T TE YRR S
(3) HITAR Ud HBAR

(4) T.UE.H.g, T Aow

e (rEd) 3R 30 6yl § qr
IH A HEH  HYURY YRR
BIEEANEE IR

(1) THRHTEHTS

(2) TEETSHRIGS

(3) SEFREr

(4) T U HI TE

‘oY g st e ad #& @
BAT 7 '
(1) 1950
(3) 1953

(2) 1949
(4) 1951

= o @ oo e e i e it
(1) e miidmifern

(2) q
(3)
4)

fore g 4 3TCs T 3G (TN
TE ) JUF T8 B & 7

(1) afweht (2) B

(3) 3 (4) 3T & I3 TE
Ieia weew AffrEm, 1972 6 fem
O B TP TS S 1 107 g ?
(1) 9m’ 69 (2) 9w 63

(3) 9w 53 (4) 9w 59

i
H

30.

31.

32.

33.

34.

35.

Which of the following wood
preservatives are used as organic
solvent ?

(1) Mercuric
sulphate
(2) Naphthenic

Pentachlorophenol
3)
4)

Coal tar & wood tar

Ascu & Celcure
The most common type of
Mycorrhizae found in the species of
Pines and QOaks are :

chloride & copper

acid &

(1) Ectomycorrhizae
(2) Endomycorrhizae
(3) Zoochlorellae
(4) None of these

When was “The Rajasthan Forest Act”
enacted ?

(1) 1950
(3) 1953

(2) 1949
(4) 1951

Identify ring porous wood from the
following list :

(1) Adina cardifolia
(2) Toona ciliata

(3) Dalbergia latifolia
(4) Santalum album

The producer and produce (Principal
and interest) are not separate in case of :

(2) Agriculture
(4) None of these

(1) Forestry
(3) Industries

National Board for Wildlife was
constituted under which Section of
Wildlife (Protection) Act, 1972 ?

(1) Section-6B (2) Section-6A
(3) Section-5A (4) Section-5B

https://exams.freshersnow.com/category/entrance-exam-question-papers/



36.

37.

38.

39.

40.

fuft b i wofordt w0 (edu- |
5T/,) T & fFe wm A IR S
87

O REISIEIS
(3) WA

(2) WP AT
(4) AANK

foper wemwor & weRtor § W R
w8l & forg forem fopeq g Srgyed
(Drying Schedules) el Wﬂﬁﬁ% B2
TR ?

(1) ¥) (2) d=
(3) @ 4) B8 |
THRR (1934) & IHER, I T %
61-80 & T ST e R BT ?
(1) E (2) A
3) C 4) D
T I T e
JIRTY] hIeh I
1. & A. B
2. fafen B. 3RS
FEC
3. =wmeg  C. T afw
4. He D. gRfr g |
1 2 3 4 |
(1) A D B C |
2) A B C D |
(3) D C B A |
4 C B D A |
|
iR RO STty (DNA Fingerprinting) I
¥ grr el Y g oft |
() wiE e (2) @R '
(3) TorE I (4) S T |

37,

38.

39.

40.

In which part of Rajasthan, the
southern dry mixed deciduous forests
(i.e. Type-5A/C,) are distributed ?

(1) Jhalawar
(3) Bharatpur

(2) Mount Abu
(4) Alwar

In case of kiln seasoning, how many
kiln drying schedules have been

standardized for Indian timbers :
(1) 4 2) 5
3) 7 “4) 6

According to Raunkiaer (1934), if
frequency % is 61-80, then frequency
class is :

(1) E
3) C

2) A
4 D

Match the following and choose the
correct answer !

Pollinating Species
agent Example

1. Wind A. Conifers

2. Bird B. Oroxylum indicum

3. Bat C. Tectona grandis

4. Insect D. Erythrina indica

1 2 3 4

(H A D B C

2 A B c D

3) D C B A

4 C B D A

DNA fingerprinting was developed by :
(1) Francis Crick (2) Khorana

(3) AlecJeffrey (4) James Watson
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41.

42,

43.

44.

45.
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a1 firg et o 1 i o -
T HIE & -
(1) ety feg

(3) e feig

(2) T T
(4) T A HIiE T

i d R w U EE R ?

(1) Seel ddt eqw xRt e

ST % etl | e feRan R |

AE Th YRR % q1e9 oAl 0

IEE |

R 0 ! T o o FFT @I |
foreran SAfftetr & st & ol o
TH 1 S 2 |

(2)

€)
4)

T e I ¥ g H ®EA @
WA (S8 g % fag
SAYSH | ST ®) /9 Y 368 A 7
gfq 313 89%a w8 gug (A.di. ufa
TFI Y a9 HEAra 3 -

(1) FEAREA  (2) HE-aH
(3) FEA A (4) T FoTad

oty aem vgfa 1 1= AW
(1) @S Juur (2) 1 IEYH
(3) H&I WA (4) T U ZTHRITT

form arfrfem < sreta o= sf A ared
nfafaftr & R serar s Asmr T R ?

(1) YR 39 Aferfam — 1927
(2) a9 (weemn) AfufEd - 1980
(3) F=Sta (gea) A= — 1972
(4) Sferes faferran artfifam - 2002

{ 41.

42,

43.

44,

45.

(2

The point at which supply and demand
curve intersects :

(1) Isoquant point

(2) Engle curve

(3) Equilibrium point

(4) None of these

Which one of the statements is false ?

(D

Keora oil is obtained from flowers
of Pandanus tectorius

Lac is an example for plant resin

Khus oil is also known as vetiver
oil

©)

)

Annato dye is obtained from
seeds of Bixa orellana

The transfer of carbon (for example :
from atmosphere to forest) from one
carbon pool to another in units of
measurement of mass per unit area and

time (tc ha™! yr~1) is called :
(1) Carbon neutral (2) Carbon source

(3) Carbonpool (4) Carbon flux

Another name for alley cropping
system is :

(1) Block plantation

(2) Wind Break

(3) Shelter Belt

(4) Hedge Row Intercropping

Act is enacted to stop the transfer of
forest lands to non-forest activities.

(1) Indian Forest Act, 1927

(2) Forest (Conservation) Act, 1980
(3) Wildlife (Protection) Act, 1972
(4). Biological Diversity Act, 2002
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46.

47.

48.

49.

Tt o v 3 S e o
grgUelt fpw Hy-afehl womedt %
st AT E 2

(1) SA-TRATE JoTferar

(2) Fiy-gaea yonferar
(3) FNY-FA-ARME Jonferat
(4) 317 yurTtert

A & I IoTehl A A € HEe Irit
ST ?

(1) TSR, QT FUT Rl

(2) ¥ 9 WS

(3) ot o i@

(4) HEER F Al

fora Aife % d8a T % IcaEH P 7
et ohl Wl 3gfd v 3= 99 I
w1 Rufor g g ?

(1) TS a= Hifa, 1894
(2) == Hifd, 1952
(3) T Hifa, 1988
(4) TSI T=T 94 Hifd, 2010

Hiy-anfeht figm T w1 aiEres %
g ferenfera <1 7T oft 2

(1) 38613 T TE. , =

(2) 3. €. UH. AR, EH

(3) ®.TIAE.IIR.ATE., NI

(4) 0T3S, i

10

46.

47.

48.

49.

Based on nature of components, the
shelterbelts
under which type of agroforestry

and windbreaks come

system :

(1) Silvipastoral systems

(2) Agrisilvicultural systems
(3) Agrisilvipastoral systems

(4) Other systems

What are the major crops of arid
regions of India ?

(1) Millet, Sorghum and Khejri
(2) Apple and Chestnut

(3) BaelandSitis

(4) Kachnar and Amla

Which one of the policies deals with
‘need of sustained supply of timber

and other forest produce’ for

productive function in the country ?

(1) National Forest Policy, 1894

(2) National Forest Policy, 1952

(3) National Forest Policy, 1988

(4) Rajasthan State Forest Policy, 2010

Agroforestry Diagnosis and design
concept was developed by :

(1) ICRAF, Kenya

(2) ICFRE, Dehradun

(3) CAZRI, Jodhpur

(4). CAFRI, Jhansi

20
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50.

51.

32,

33.

54.

5S.

20

ftem o it 3ehg T BT FEI THT RS 7
(1) ST — =i

(2) fewr - sl

(3) M-

(4) 3 — g

UGS FHWT TH @ O 2 S
SRrepat Frer & & ORI R |

(1) I Somfa
(2) Bl srsirfe

(3) 79 AEEER YT
(4) TR efa

FAIET I MY TS 1§ (IE
TH AR 3N) WG 2

(1) = (2) e
(3) =M (4) =

¥

SAfes T4 (STHaRs o) e &
'q\ﬁ:

2
1) G=% @ G=
(3) G=sh? (4) G=%xh
TRt ek g T, FrepTet T @
(1) Hetmr (2) ST
(3) T (4) &

Y g=sid aiwg (IBWL) &1 T34
el o fope o # fopam T o ?

(1) 1950 (2) 1952

(3) 1972 (4) 1991

11

51.

53.

54.

5S.

What is the best time for the seed
collection of Dalbergia sissoo ?

(1) October — November
(2) December — February
(3) May — June
(4) April — May

Viviparopus germination is a peculiar
characteristics that mostly seen in

(1) Conifer species
(2) Mangrove species
(3) Wet evergreen species

(4) Garcinia species

International Union of Forest Research
Organisations (IUFRO) is located at :

(1) China (2) Austria
(3) Ghana (4) Kenya

Formula for genetic gain :

h2
(1) G=g Q)G=%
(3) G=Sh? 4) G=éxh

True gum kino is extracted from
(1) Palas (2) Bijasal
(3) Salai Guggal (4) Khair

Indian Board of Wildlife (IBWL) was
first constituted in the year :

(1) 1950 (2) 1952
(3) 1972 (4) 1991
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56.

57.

58.

59.

60.

61.

frd 9w § e wU A s
GASH FISHT T hgeATdl & 7

(1) =@ (2) srfeEf &
(3) saTEC (4) T T 1S T

TSTETH 1 fohae Y STetamg &= | arel
T™E ?

(1) 10 (2) 15
(3) 18 4) 25

4 9 9 &t g wIe s9R &+ fao
I9T SR ?

(1) TS Bffesh

(2) FerferaifeE s

(3) s i

(4) T TRAT

FaSE  (TRemT)  rfufem 1 foRd
T # At w1 fofora fepa g 2
(1) g 1 (2) 3rFE 2

(3) T4 (4) TS

e s ey, Ams S s 6
1 I8, 1975 i rfedes § 31, &1
geaTe (afuere) fua &

(1) e, fasivg

(2) e, freeretvs

(3) IRfeATeH, Fefitan 3, wE.T,

(4) AT, F=m

fode, veet w@ wE-31 fhwehl s
fri g ?
(1) =R

56.

3.

58.

59.

60.

61.

A genetically proven tree of
established good combining ability is
known as

(1) Plus tree

(2) Stag headed tree

(3) Elite tree

(4) None of these

How many agro-climatic zones are
recognised in Rajasthan ?

(1) 10 2) 15
(3) 18 (4) 25

Which of the following grass is used
for paper making :

(1) Apluda mutica
(2) Eulaliopsis binata
(3) Bromus inermis

(4) Chloris gayana

In  which schedule of Wildlife
(Protection) Act are vermin species
listed ?

(1) Schedule-1
(3) Schedule-4

(2) Schedule-2
(4) Schedule-5

On 1°' July, 1975, CITES entered into
force and its secretariat is located at

(1) Gland, Switzerland

(2) Geneva, Switzerland
(3) Arlington, Virginia, US
(4) Nairobi, Kenya

Nirmal, Dhawal and L-31
improved varieties of :

(2) Periwinkle
(4) Rauvolfia

are the

(1) Pyrethrum
(3) Dioscoria

20
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62.

63.

64.

65.

66.

67.

20

ﬁmﬁ@%ﬁmmmmls(l)
o =ifa e w2

(1) Hergard (2) I T
(3) wrENfERR e (4) =8 mft

1 5 @ i w1 e % i ey 8
TSTEAT % 9T ] exiiar & 7

(1) ufvadt veR e vgifeaf

(2) uFEm qdg A wd et

(3) ufeadt s &5

4) g e fgm

1988 <t Tgrr = Hify o fope sfif 39—
T % Tga A1iehT e w1 ol R T
27

(1) 2.1
3) 3.1

() 4.11
4) 4.12

71 % @ i e e R 2
(1) Savsaf=a () sl 3am
(3) T ™

aﬁnﬁﬁﬁ(m)%mﬁgw

T fopeft T wréem e S § 7
(1) 10 (2) 16
(3) 27 4) 32

qq ARG H A AN A e
HATHETEE H TY=Y & €Y F FH7 7@
H

(1) Imfferem  (2) TR
(3) Semsfeferym (4) @i

(4) TS TR

| 64.

65.

66

i
l
!
|
!
| 67.
|
|
|
i
|

13

Which of the following is declared by
state government under Section 18(1) ?

(1) Sanctuary

(2) National Park
(3) Biosphere reserve
(4) All of these

Which one of the following agro-

climatic zones of India

Rajasthan part ?
(1) Western plateau & hills
(2) West coast plains & hills

(3) Western dry region

covers

(4) Trans gangetic plains

The 1988, National Forest Policy
describes the forestry education under
the heading of sub-para :

(1) 2.1 (2) 4.11
3) 3.1 @ 4.12

Which of the following is Ex-Situ
conservation :

(1) Biosphere Reserve

(2) Botanical Garden

(3) National Park

(4) Wildlife Sanctuary

As per latest record, how many
Ramsar sites are designated in India
for protection of wetlands ?

(1) 10 () 16
3y 27 4) 32

The conversion of soil nitrate into
gaseous nifrogen or nitrous oxide is
known as :

(1) Ammonification
(2) Nitrification

(3) Denitrification
(4) Mineralisation
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68.

69.

70.

71.

72.

73.

74.

ISR U RS e 68.

(l) C6H12024
(3) C5H20030

(2) CSHIOOIS
(4) C6HIOOS

Freror 78 S a7 weews weenar 2, & | 6%

forea & (3me) foRm 2
(1) TR Q) 3. 3=E
(3) d1.%.9. TR (4) .. g=A

-wgsfet Argerem b e S 2 70.

(1) TsSifod 2) i

(3) FEfem  4) T=®

gt (TE) sfufem fem oy #@ |71,
SN 3T ? |
(1) 1972 (2) 1927

(3) 1917 (4) 1935

et 3 & v @ ufawa & | 72

3o ! AW il deHIRal hl ]
yreeTareA Sl HEd 8
(1) s
(3) LR,

(2) 3. 3TR.IAR. |
(4) TA.TE L

Qo] Taal o Jehr ¥ fot® sl W aE- | 33

SIS wTa Toman o 8
(1) IS HTFH T (2) @:eﬁ(mw@)i
3) BT RN T (4) FRH AN

l
|
TSI HHTE e AT ST @ 7 ;
(1) Toramt & Tget g% | |
(2) TR TR TR |
(3) 3TeRER ¥ TRad TR & i
(4) T % 9Eet g A

14

74.

Empirical formula of cellulose is :
(N C6H12024 (2) CSHIOOIS
(3) C5H20030 (4) CﬁHIOOS

A festival of planting trees is called
‘van-mahotsava’ and it was started by

(1) Voelcker (2) J. Westoby
(3) PK.R.Nair (4) K.M. Munshi

The non-symbiotic nitrogen fixing
bacteria is :

(1) Rhizobium
(3) Clostridium

(2) Frankia
(4) Nostoc

When was Wildlife (Protection) Act
enacted ?

(1) 1972
(3) 1917

(2) 1927
(4) 1935

Term related to the techniques of
economics used for “estimating the

costs as well as returns from a
product”.

(1) GDP (2) IRR

(3) BCR (4) NNP

In case of sloping ground the breast-
height measurement of leaning trees is
done :

(1) Along the tree stem

(2) Vertically

(3) On the side of Lean

(4) Uphill side

When is wildlife week celebrated ?

(1) 1% week of September

(2) 1® week of October

(3) Last week of October

(4) 1% week of March

20

https://exams.freshersnow.com/category/entrance-exam-question-papers/



75.

76.

P

78.

79.

20

LA, 2012 F FFER Yeierat
%! et te fore (foep) Afr & wf
TATE ?

(1) 5 2y 7

(3) 9 4) 12

&l % R Sfemehrer $1 =, S v
I gt w1 forwerwor off o6t Eehd &
() Fgsmm (2) 3o T
(3) Ffavemy  (4) = amm

= 4 @ =8 o1 99 o F FR
qifyar g ?

(1) T 3feem

(2) ftscrnr SRR

(3) gfean e

(4) T A BE TE

HAAMS GATcHS IAN-<E AT IR
SEelTe =g R Yo 3 wr o) wTH Rea
ST g ?

(1) farewe e

(2) ITHE AR ATH

(3) THIRERR oY

(4 gg&m™

Toh "ruiteg fereror ot fob ufy 3678 &
% YR W owft smawEs  ariwel
TR T qUi-wveiia e Frafia wg
4 fonfora wm-a1mg wee % R %
ot wmafies srate & 91 sa% 3T
Sfte % a2 e 1 srresifed @ @ay
T SIh U1 2, HEATIT &

(1) AT ERel  (2) 39« greft
(3) a&gE (4) 378 8 HE T

i i e A3 TPl o TSRS e g BT LS i S mimm et

=
(¥, ]

| 75.

76.

7

78.

79.

As per IUCN (2012), how many red
list (risk) categories of species have
been identified ?

(1) Five
(3) Nine

(2) Seven
(4) Twelve

The diameter, height and volume
increment throughout the life of the
trees can be analysed by :

(1) Increments boarings

(2) Stump analysis

(3) Stem analysis

(4) Height measurement

Which of the following tree species is
the major host of lac insect ?

(1) Mangifera indica
(2) Emblica officinalis
(3) Butea monosperma
(4) None of these

Which kind of profit is generally
gained by sudden positive fluctuation

~or favourable changes ?

(1) Windfall profit
(2) Super normal profit
(3) Monopoly profit
(4) Net profit

A tabular statement which summarizes
on per unit area basis all the essential
data relating to the development of a
fully-stocked and regularly thinned
even-aged crop at periodic intervals
covering the greater part of it’s useful
life is called :

(I) Volume table (2) Yield table

(3) Inventory (4) None of these
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80.

81.

82

83.

84.

85.

Hosr o1 frgra fre it 8 2
(1) 3Tepid =g

(2) i wfed

(3) Tt ITHld

(4) 3TBfer Sreé T O hT BT G

SR 30 eTehel TeA fRa 2
(1) TR 2) TemRRmE
(3) MM (4) UTFAT

ITehT HIHATEl & TIH o YR W Th
T ot fob Rk y-ammere & 48 %
SaTE &1 S i AT 8

(1) Trfigdaty  (2) oA

(3) Hdg AT (4) STHHT 3T

Topvaa fewdiet & o A9 ST 8 7
(1) S=rs (2) I
(3) WUSTHId (4) T & HE TE

T % YHR H YR T o W H
(1) g (2) FE T
(3) SEIFATATTIIT (4) Sg-SreA

T -afgey arifRifas o 7@ ®9 9
IseRfeatiig TE SUrwh e STa-
STt 851 # 9 9 8, e 8

(1) TeAvg S

(2) Yt gt

(3) @art

(4) BpeE

SO ——

=y
(=]

80.

81.

82.

83.

84,

85S.

The principle of Metzer’s theory

depends upon :

(1) Form height

(2) Form quotient

(3) Stem form

(4) Both Form height and Form quotient

International Tropical Timber

Organisation is located in
(1) Malaysia (2) Indonesia
(3) Japan (4) Thailand

On the basis of place of their action, a
forest fire which burns not merely the
ground cover but also the undergrowth
is :

(1) Creeping fire (2) Crown fire
(3) Surface fire  (4) Ground fire

Which of the following pafameter can
be measured by Christen’s hypsometer ?

(1) Height (2) Volume
(3) Taper (4) None of these

Identify odd answer from the
following choice on the basis of kinds
of sampling.

(1) Sequential sampling

(2) List sampling

(3) Multistage sampling

(4) Multiphase sampling
Salt-tolerant ecosystems found mainly
in tropical and subtropical inter-tidal

regions, are called :

(1) Wetland biomes
(2) Desert vegetation |
(3) Savanna

(4) Mangroves
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86.

87.

88.

89.

90.

20

G2 3571 A 31y Freprem & R s
TFaT ST STeTT STt

(1) forvem fewifier(2) wofis stoe
(3) B AR (4) VoeR fogw

Sa-fafauar favg w wiféat =1 aaieq
(®U-11, 2012) Haf ERE frar

™77
(1) Bewmemg ) A
(3) iRl 4) T3

STy IREdT WG UYL T @fn
e (UNFCCC) T 3=eigh
vatawer |t ], i 59 o @ g

(1) 097%, 1992
(2) 217, 1994
(3) 39140, 1992
(4) 378 @ g T

gt (log) T G Freprer aren s

Wﬂ?:
g 2
(2) [E)

S/
“)(ZJ

2
3) [%) x 1 (4) %w

e IR WWTEH o Wi g freeht
gt 2 x 2 fiX @ s dur TieR
Tageia Juelt # Aqur ¥ Hor qig
JTITIHAT Bl
(1) 25000
(3) 11112

(2) 50000
(4) 8333

et L ol Yt . S TPt e e TP AR S Vi i oA R

[
~

86.

87.

89.

90.

The age of the standing trees can be
estimated by instrument :

(1) Christen hypsometer

(2) Abney’s level

(3) Haga Altimeter

(4) Pressler’s increment borer

In which place the Conference of
the Parties (COP-11, 2012) on
biodiversity was organised ?

(1) Hyderabad (2) Dehradun
(3) Kolkata (4) Mumbai

The United Nations Framework
Convention on Climate Change
(UNFCCC) is an international

environmental treaty entered into force
on:

(1) 09" May, 1992

(2) 21%March, 1994

(3) 3-14 June, 1992

(4) None of these

Quarter girth formula for calculating

the volume of logs :
S/ 2
S ) g

oF) e

2

2
® (&« @ B

Calculate total number of seedlings
required for raising 5 ha of teak
plantation with planting distance of
2 m x 2 m along with a seedling in the
centre of each square in quincunx

design.
(1) 25000 (2) 50000
(3) 11112

(4) 8333
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gl & T SHEEn % g gl

i 91. The graphical representation of age
' groups of a population given here,
shows :

PEECEICI
Post Reproductive

Are—ReproductivA

(1) Declining population

i
i
i
!
i
:
i
i
i
i

EEEE

=)

(1) SHEEI 5™

(2) SHEE seral i | ‘
(3) TR J9aET : (2) Increasing population

(4) foafeaa smeen

(3) Stable population

(4) Fluctuating population

YR ¥ HW hI 3R F&4 W g& a1 SE 92. Decrease in diameter of stem of a tree
%; T CAl mmq., "az’a’ ST : 4 or Of a log from base upwal‘ds iS

; known as :
(1) A SAE (2) YUSTHId ,
3) 3;'-@% @ foealis j (1) Form height (2) Taper

(3) Form (4) Form quotient

defam REiH) = Ea { 93 Income of Elasticity of Demand (IED)

5 T o7 BT ST R 2 ‘ is calculated using following formula :
I . A I T
Q) IELA. = ;‘:;mmiﬁ (2) IED :{:'//oo ((::Plﬁl’:lggee ii?q ?ﬁ:ﬁ::
3) sEIA. :‘;:Tr; (3) IED=%§
o, T 3 wEETE — 100 @) [Ep = Zchange in demand — 100

% change in income

@ IR = o ee

el TP IATE (GNP) H aTf=hl
ANTE T &

94. The contribution of forestry to the
Gross National Product (GNP) is

d:
(1) 7.19fm@ () 9.2 i ?T))m; 19 2) 9.2%
(3) 1.2 wfemra (4) T 8 T 3) 1.2% (4) None of these

[y
oo
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9s.

96.

27

98.

99.

20

it Feerem W fee e T T R

TR ?
(1) ==™= (2) A=A
(3) TR EE  (4) THABETE

aﬁm@ﬁﬁmﬁa&ﬁmwm

g sk SN IcATGH o G HIEHT 6 Th W
faftm s 1 sard) @ 98 sares
T 1 TH T I S HHaT B
(1) ggemfag (2) Fmia

(3) SUATTA S (4) HHIRT o5k

fETaTaT T STt % FEEU o HOr Ieqw
gl 8, (Feraeh firer &)

(1) featmege

(2) AR FATTS

(3) firemser smgemTEe

(4) F=TAA

I ShITET G STMYR, ShiHEH e
1 UH%A BT &, T I8 1 hEd & 7
(1) srgrfrar (2) TATEITHeRar
(3) Mt (4) g

i
f
H
i
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95.

96.

9.

98.

99,

What is the basis of French method
used for yield calculation ?

(1) Diameter classes

(2) Volume

(3) Number of trees

(4) None of these

Resin extracted from Vateria indica is

marketed in the name of

(1) Ral (2) Rock dammer

(3) White dammer (4) Black dammer

The curve showing all possible
combination of inputs that are capable
of producing certain quantity of output
(1) Equilibrium point

(2) Engle curve

(3) Iso cost curve

(4) Isoquant curve

Minamata disease is produced due to
the pollution of water with :

(1) Silver nitrate

(2) Mercuric chloride
(3) Methyl isocyanate
(4) Crude oil

Multiplication of entire set of

chromosomes is known as :
(1) Aneuploidy (2) Nullisomy

(3) Tetrasomy (4) Euploidy
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100. @) SEATy &5 % il raeuTal &% % | 100. Transition zone between  two

9§ ST ST 8 vegetational regions is known as
(1) sHEm (2) FHRH (1) Ecosom (2) Ecotone
(3) T (4) TP (3) Ecotype (4) Ecoline
101. o1 § MR 68 HROT A BT & ? 101. Abnormality in forests can be due to :
(1) ETIITRIHE[% (1) Normal growing stock
(2) & 1 e (2) Under stocked trees
(3) M= ey (3) Normal increment
QIH'E{Q;-" A ¢ (4) Both Normal growing stock and
®) o AR Normal increment

102. 59 diferest § o TS| &1 3w oo © } 102. In forest inventory, wedge prism is

¥ form iRl & Rr ST @ 7 l used in the following circumstances :
(1) Afesa & :r‘fnﬁg (1) Fixed area sampling unit
(2) Horizontal point sampling
2) &fes
(ﬂ) ﬁﬁm (3) Quantifying undulation in contour
(3) mﬁﬁ HAFT H 0T T -
(4) WW (4) Complete enumeration
103. % (Callus) & : 103. Callusis :
(1) YU S 9Tell Sash (1) Tissue that forms embryo
Q) T W FETEERE (2) An insoluble carbohydrate
(3) Tissue that grows to form
3) Wsﬁwaﬁ%mmﬁl tonulte
(4) IrEmfsa dAFA w1 ¥ fawifaa ; , L
. (4) Unorganiosed actively dividing
FIREBA F FEHAA B He= mass of cells maintained in

(Culture) & S91¥ T&HT | { culture

104. Ihferes # fieh T 1 R0 ST HA ?
(1) HIaT grea—aer

104. Which is the causal organism of pink
disease in Eucalyptus spp. ?

2) HTREE fdfeee (1) Corticium salmonicolor
(2) Cronartium ribicola
3) HTEhIATSHT 9 Sfia
54; = & P T (3) Mycoplasma like organisms

(4) None of these

105. ETEfeeTaT IRET Th TgE hHie & —
(1) 9T (2) EFTEH

(3) <EER (4) "R

105. Hyblaea puera is a major pest of
(1) Sal (2) Teak
(3) Deodar (4) Mahogany
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106. 35.E.f.W. (ICBN) % @R, 7o
IRt § A T TS HY AHHT THR §
99 FW & fou, wefe g § @i
RIS (Holotype) ATfa & o, e
ST 2

(1) 3TgE e
(3) wFIeTEY

(2) foergy
@) e

SgIhoray feyered &1 3= 91 -
(1) Hrersid (2) gl =™
(@) gaIhEtm  (4) matw

107.

108.

foriegs, e Fer gem: ore T 8
(1) ghfereed s

(2) i e

(3) Tl R

(4) = FowH

109. o STNfEpR fistd (Biosphere reserve)

1986 T =gt Tia fema e o -
(1) fafi ) e
(3) S H B WI(4) Hetad

110. 7= § & ®H 91 99 B8 79 $ o

wEfad (e o=l ) S ST d 7
(1) et e ()
(2) e JeReT (wrer)

(3) UE gl (W)

(4) Tufern st (3)

20
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107.

108.

109.

| 106. As per ICBN, the specimen selected

from the original material to serve as a
nomenclatural type when no holotype

was designated earlier is called :

(1) Isotype (2) Syntype

(3) Lectotype (4) Neotype

Dendrocalamus strictus is also known as :
(1) Female Bamboo

(2) Golden Bamboo

(3) Budha Belly Bamboo

(4) Male Bamboo

Lignotubers, underground swellings,
are mostly found in

(1) Eucalyptus sp.

(2) Leucaena leucocephala
(3) Dalbergia sissoo

(4) Santalum album

First  Biosphere
established in 1986 at :
(1) Nilgiri

(2) Nanda Devi

(3) Little Rann of Kutch
(4) Sunderbans

reserve was

. Which of the following tree remains

leafless for 6 months ?
(1)
)
A3)
@)

Hymenodictyon excelsum

Shorea robusta

Abies pindrow

Melia azedarach
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111.

112.

113.

114.

115.

e oy e g fem 'g
et gfg & fo it sEm R
STTETIhaT Bl B

(1) e Refereer

@) Hfen dwe

(3) HEA

(4) ufeT widimiferan

Tea 3 y&dTe 781 foram o
(1) 59 ' |
(2) el e |

(3) 3TCTTE /GrahTol |
(4) TEad aefietor

frer 3 @ Fret o e ot | 103,

S ?
(1) =t
(3) HIgE

(2) 9«
4 &%

foetaes arern & fore fmr & @ @l @
AR T (HRT) TE 8 ?

(1) e (2) TEATIH
(3) TREWEET (4) FReH

!
|
YT &1 aiiveh! 6 3@ rET i @ i
ot e e 2 S B o wed B |
iy, e, TRuTeH T g s i
o= et B | g aiaTT & g & TS |
oft —

(1) S o & {
(2) A i i
(3) o I FeRr T e g
(4) 3T § B T

22

| 111.

112.

114.

115.

Identify a species which requires some "
degree of shade during its early stages
of growth for its normal development.

(1) Populus ciliata
(2) Shorea robusta
(3) Mesua ferrea

(4) Adina cordifolia

Mendal did not propose :
(1) Dominance

(2) Incomplete dominance
(3) Segregation

(4) Independent assortment

In which of the following species, stilt
roots are commonly found ?

(1) Pines (2) Sal
(3) Mangroves (4) Teak

Which one of the following is not a
continuing cause of secondary succession ?
(1) Migration

(2) Ecesis

(3) Grouping and aggregation

(4) Erosion

The silviculture is defined as that
branch of forestry which deals with the
establishment, development, care and
reproduction of stands of timber, this
definition was given by :

(1) Champion and Seth
(2) Toumey and Korstian
(3) FRIand Colleges

(4) None of these
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116.

117.

118.

119.

120.

20

S feret w1 317 7 -
(1) IR foem

(2) = w0 forem
(3) =7 forem

4) =8 fRem

forg fafr & sraeiier, ame @ st
1 8 T & T A geTfed fone S & 7
(1) =H gdeu

(2) T T

(3) W IaA HaU

(4) ATRAeReT HeeTu

fomiy sl % forg ARt St &
gfgaeTyt ve= S % g 39 wE
SEEE R
(1) SReqoT
(3) Siofietor

(2) gIyor
(4) YT

LuRUCTRC AR (i

(1) 9 s forfarr

(2) B9 UUg SRENf@RIR hH
(3) B T SEIfeen

(4) FH A HE TE

Sifea &Tg &g =afa wiyl § fefafea
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119.

120.

. Intelligent

German thinning is also known as :
(1) Thinning from above

(2) High thinning

(3) Crown thinning

(4) Thinning from below

In which method, field observations,
measurements and  plotting  are
completed simultaneously in the field ?

(1) Chain survey

(2) Compass survey

(3) Plane-table survey
(4) Topographical survey

choice of timber for
specific purposes is what generally
understood as :

(1) Preservation (2) Seasoning
(3) Grading (4) Conversion
What is the full form of MAB ?

(1) Man and Behaviour

(2) Man and Biosphere programme
(3) Man and Biosystem

(4) None of these

Which one of the following is not a
characteristic of plants used for live
fence ?

M
)
3)

Fast growing nature
Thorny character

Habit of forming branches from
the lower stem

4

Susceptible to pest/disease
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